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The table given below shows the total number of books(Maths,

Physics, Chemistry) sold in different year.
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Bl W Question 1- Find the sum of number of Chemistry

Ac/mggﬂ; Mathy books sold in 2001 and 2005.
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Rlua=Tokd Question 2- Find the average number of books sold in
2001, 2002 and 2005.
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Question 3- Find the percentage of number of Chemistry books in
year 2001, 2002, 2004 to the total books sold in same years.
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Question 4- Find the percentage increase in the selling of Physics
books from yeap2002/to the yea 2009
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Question 5- Find the ratio of Maths and Physics books sold in 2003
and 2004 to the Chemistry books sold in 2004 and 2005.
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Question 6- What value will come 1n place of question mark.
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Question 7- What value will come 1n place of question mark.

Er%T 7-9 fﬁ@ oh TAT 9T AT { SATTT?

12 3 24+5><6_
56/)& EZV ,52 A. 16
/3/ /5, ‘\'/j LB: 76
C. 66
= D. 56
D E. None of these

https://t.me/mathbytarunsirmepl



| @ SBICLERK 2023@

Question 8- What value will come 1n place of question mark.
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Question 9- What value will come in place of question mark.
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Question 10- What value will come 1n place of question mark.
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Question 11- The sum of two numbers 1s 1392 and the ratio
between them 18&:11. Find the difference between the numbers.
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Question 12- P and Q started a business with Rs 2000 and Rs
(x-1000) respectively. After 6 months they each increased his
“1nvestment by Rs 1000. At the end of year P’s profit is Rs

A. Rs 5000 10,000 out of total profit Rs 28,000. Find the wad=e initial
B. _R4000 investment of )bQ

C. Rseoop XA 12-P3TQ A SE: 2000 T ST (x-1000) T o A T
B ST I Rl 6 TR o d1€ 390 8 Ycdeh o 3794 3T 7 1000

D. Rs7000 %3 I gig shil o % 31q § P 7 A9 FA A 28,000 &. 7 &
B None of these 10,000 ®. €. g T TR FHowT = 14 shiwig|
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Question 13- A boat covers 720 kn 40 hours and
covers the same distance in 30 hours downstream. Find the
speed of water.
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Question 14- Find the simple interest on a sum of Rs 2000 at
8% per annum for 17 years.
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A. Rs 2730
BT Rs 2720
C. Rs1730
D. Rs 1220
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Question 15- P and Q can do a piece of work in 48 hours and 160
hours. In how much time they will complete the whole work.

T 15- P 3 Q Teh 1 hl 48 B 3T 160 = H L Hehdl 8| o T h
1 fehc THT H QU 1
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Question 16- A can do 40% of the work in 10 days and B can do

the 60% of the same work 1n same number of days, then find that

in how many days they can complete the 28% of the total work ?

T 16- A 40% 1 okl 10 TeT H 92 HehdT 8 31 B 3T 1 o 60%
! THT TS H 3 HohelT 7, 1 T shifSt Toh o St shid T 28% Tohel

ol H O Rt Eehd &2 A. 12 days
H A, . B. 14 days
JL— C. 10 days
N D. 22 days
E. None of these
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Question 17- how many 4 digit number can be formed with the

digit 0,1,2,3,4 and 5.
T 17- 0,1,2.3,4 37T 5 3kl o G 4 3ol shi ford-T ST 9413 1
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